
Plane Geometry 
Circle

Find the equation of the Circle whose

Centre is (2
,
-3) and which passes

through the intersection of the lines

3x + 2y = 11

2x + by = 4

sol Given lines are

- 3x + 2y-11= 0 -0
2x + 3y - 4 = 0 -2
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Point of intersection of lines (5 , -2)



: Circle Passes through point of
intersection of I & O

... Circle passes through (I ,
-2)

Al⑧ 5 , 12)

8o

r = distance of OA (2 , -3)

+(- 2 +3)
- STo

= 19 + I I



(x - 21 + (y + 3) = (To)"
a +4 - 4x + y + 9 + by = 10

x + y2 - 4x + 6y + 3 = 0


